
V2.00 - Installation Instructions, Specifications and Project Plans are effective 11/21/2016 . This information is updated periodically 
and should not be relied upon after 2 years from 11/21/2016 . Please visit OZCOBP.com to get current information.

[15]
.60

ITEM 
NO. QTY. PART 

NUMBER DESCRIPTION

1 1 56622-12
Base, 1-1/4" 
Hammered 

Dome Cap Nut

2 1 56622-11
Nut, 1-1/4" 
Hammered 
Dome Cap

1-1/4" Hammered Dome Cap Nut
Item #: 56622

Last updated: 11/21/2016
56622-10

Product & Packaging Specs

Weight: 0.04 LBS
Scale: 2:1

1

 
15
.60  

2

1
[31]
1.22

31
1.22



V2.00 - Installation Instructions, Specifications and Project Plans are effective 11/21/2016 . This information is updated periodically 
and should not be relied upon after 2 years from 11/21/2016 . Please visit OZCOBP.com to get current information.

1-1/4" Hammered Dome Cap Nut
Item #: 56622

56622-10

Product & Packaging Specs

Weight: 0.04 LBS
Scale: 1.5:1
Last updated: 11/21/2016

2

31
1.2

 
15
.6  



V2.00 - Installation Instructions, Specifications and Project Plans are effective 11/21/2016 . This information is updated periodically 
and should not be relied upon after 2 years from 11/21/2016 . Please visit OZCOBP.com to get current information.

1-1/4" Hammered Dome Cap Nut
Item #: 56622

56622-10

Product & Packaging Specs

Weight: 0.04 LBS
Scale: 2:1
Last updated: 11/21/2016

3



V2.00 - Installation Instructions, Specifications and Project Plans are effective 11/21/2016 . This information is updated periodically 
and should not be relied upon after 2 years from 11/21/2016 . Please visit OZCOBP.com to get current information.

1-1/4" Hammered Dome Cap Nut
Item #: 56622

56622-10

Product & Packaging Specs

Weight: 0.04 LBS
Scale: 2:1
Last updated: 11/21/2016

4



V2.00 - Installation Instructions, Specifications and Project Plans are effective 11/21/2016 . This information is updated periodically 
and should not be relied upon after 2 years from 11/21/2016 . Please visit OZCOBP.com to get current information.

Nut, 1-1/4" Hammered Dome Cap
Item #: 56622-11

56622-10

Product & Packaging Specs

Material: 5052-H32
Finish: Black Powder Coat as shown
Weight: 0.02 LBS
Scale: 1:2
Last updated: 11/21/2016

5

SECTION A-A 
SCALE 2 : 1

3/4-16

25.40
1.00

 
10.50
.41  

 
2.50
.10  

no powder coat on 
internal features

hammered finish
(see CAD model)

31.05
1.22

A

A



V2.00 - Installation Instructions, Specifications and Project Plans are effective 11/21/2016 . This information is updated periodically 
and should not be relied upon after 2 years from 11/21/2016 . Please visit OZCOBP.com to get current information.

Base, 1-1/4" Hammered Dome Cap Nut
Item #: 56622-12

56622-10

Product & Packaging Specs

Material: Stainless Steel (ferritic)
Finish: Black Powder Coat as shown
Weight: 0.02 LBS
Scale: 1:2
Last updated: 11/21/2016

6

3/4-16

 
2

.08 

 
6.35
.25  

24.89
.98

no powder coat on 
internal features

7.62
.30

 
1.91
.08  

 
10.16

.40  



V2.00 - Installation Instructions, Specifications and Project Plans are effective 11/21/2016 . This information is updated periodically 
and should not be relied upon after 2 years from 11/21/2016 . Please visit OZCOBP.com to get current information.

Box, DCN
Item #: Box

56622-10

Product & Packaging Specs

Material: Corrugated Paper
Finish: 
Weight: 0.03 LBS
Scale: 1:3
Last updated: 11/21/2016

7

flap
 

39.69
1.56  

 
119.06
4.69  

 
255.59
10.06  

 
45.72
1.80  

 
16.51

.65  

 
11.43
.45  

3.18
R.13



V2.00 - Installation Instructions, Specifications and Project Plans are effective 11/21/2016 . This information is updated periodically 
and should not be relied upon after 2 years from 11/21/2016 . Please visit OZCOBP.com to get current information.

Insert, DCN Box
Item #: Insert

56622-10

Product & Packaging Specs

Material: Polyurethane Foam Rigid
Finish: Natural
Weight: 0.24 LBS
Scale: 1:2
Last updated: 11/21/2016

8

SECTION A-A
 

31.75
1.25  

15.88
.63  TYP

 
107.95
4.25  

 
244.48

9.63  

4X
12.70
R.50

 
15.88
.63  10X

31.75
1.25

 
44.45
1.75  

A

A



V2.00 - Installation Instructions, Specifications and Project Plans are effective 11/21/2016 . This information is updated periodically 
and should not be relied upon after 2 years from 11/21/2016 . Please visit OZCOBP.com to get current information.

ITEM 
NO. QTY. PART 

NUMBER DESCRIPTION

1 1 56622
1-1/4" 

Hammered 
Dome Cap 

Nut
2 1 Box, 

56622 Box, DCN

3 1 Insert, 
DCN

Insert, DCN 
Box

56622 Packing
Item #: Box packing

56622-10

Product & Packaging Specs

Weight: 0.72 LBS
Scale: 1:2
Last updated: 11/21/2016

9

32

1



V2.00 - Installation Instructions, Specifications and Project Plans are effective 11/21/2016 . This information is updated periodically 
and should not be relied upon after 2 years from 11/21/2016 . Please visit OZCOBP.com to get current information.

Case, 56622
Item #: Case

56622-10

Product & Packaging Specs

Material: Corrugated Paper
Finish: See artwork
Weight: 0.15 LBS
Scale: 1:5
Last updated: 11/21/2016

10

 
123.83
4.88  

 
261.94
10.31  

artwork
cutline
3 sides

 
478.41
18.84  

 
101.60
4.00  

flaps



V2.00 - Installation Instructions, Specifications and Project Plans are effective 11/21/2016 . This information is updated periodically 
and should not be relied upon after 2 years from 11/21/2016 . Please visit OZCOBP.com to get current information.

56622 Packing
Item #: Case packing

56622-10

Product & Packaging Specs

Weight: 14.4 LBS
Scale: 1:3
Last updated: 11/21/2016

11

box shown
without flaps
for clarity

1x12 packing



V2.00 - Installation Instructions, Specifications and Project Plans are effective 11/21/2016 . This information is updated periodically 
and should not be relied upon after 2 years from 11/21/2016 . Please visit OZCOBP.com to get current information.

56622 Packing
Item #: Pallet packing

56622-10

Product & Packaging Specs

Weight: 161 LBS
Scale: 1:2
Last updated: 11/21/2016

12

additional pallet packing instructions
plywood on top layer•
strap to pallet•
clear wrap around boxes•

 

 
1160
45.67  

 
665.16
26.19  

 
101.59
4.00  

 
760

29.92 

 
90.81
3.58  

A pallet

Total number of cases: 20
Total number of pieces: 
20X12=240 pieces on pallet



V2.00 - Installation Instructions, Specifications and Project Plans are effective 11/21/2016 . This information is updated periodically 
and should not be relied upon after 2 years from 11/21/2016 . Please visit OZCOBP.com to get current information.

Box, 86622
Item #: Backing

56622-10

Product & Packaging Specs

Material: Corrugated Paper
Finish: see artwork
Weight: 0.00 LBS
Scale: 1:2
Last updated: 11/21/2016

13

 
88.90
3.50  

 
120.65
4.75  

 
6.35
.25  

 
6.35
.25  

 
9.53
.38  

 
19.05
.75  

 
6.35
.25  

2.54
R.10

6.35
R.25

 
1.02
.04  



V2.00 - Installation Instructions, Specifications and Project Plans are effective 11/21/2016 . This information is updated periodically 
and should not be relied upon after 2 years from 11/21/2016 . Please visit OZCOBP.com to get current information.

Box, 86622
Item #: Backing

56622-10

Product & Packaging Specs

Material: Corrugated Paper
Finish: see artwork
Weight: 0.00 LBS
Scale: 1:2
Last updated: 11/21/2016

14

 
120.65
4.75  

 
88.90
3.50  

6.35
R.25

 
6.35
.25  

 
44.45
1.75  

 
28.58
1.13  

16.51
R.65

2.54
R.10

 
1.02
.04  

 
6.35
.25  



V2.00 - Installation Instructions, Specifications and Project Plans are effective 11/21/2016 . This information is updated periodically 
and should not be relied upon after 2 years from 11/21/2016 . Please visit OZCOBP.com to get current information.

ITEM 
NO. QTY. PART 

NUMBER DESCRIPTION

1 0.2 56622
1-1/4" 
Hammered 
Dome Cap 
Nut

2 1 Box, 
86622 Box, 86622

3 1 Box, 
86622 Box, 86622

86622 Packing
Item #: Blister Packing

56622-10

Product & Packaging Specs

Weight: 18.96 LBS
Scale: 1:2
Last updated: 11/21/2016

15

3

2

1



V2.00 - Installation Instructions, Specifications and Project Plans are effective 11/21/2016 . This information is updated periodically 
and should not be relied upon after 2 years from 11/21/2016 . Please visit OZCOBP.com to get current information.

Case, 86622
Item #: Case

56622-10

Product & Packaging Specs

Material: Corrugated Paper
Finish: see artwork
Weight: 0.09 LBS
Scale: 1:3
Last updated: 11/21/2016

16

 
98.43
3.88  

 
127
5.00  

artwork cutline

 
247.65
9.75  

 
76.20
3.00  



V2.00 - Installation Instructions, Specifications and Project Plans are effective 11/21/2016 . This information is updated periodically 
and should not be relied upon after 2 years from 11/21/2016 . Please visit OZCOBP.com to get current information.

86622 Packing
Item #: Case Packing

56622-10

Product & Packaging Specs

Weight: 18.96 LBS
Scale: 1:2
Last updated: 11/21/2016

17

case shown cut for clarity

1x12 packing



V2.00 - Installation Instructions, Specifications and Project Plans are effective 11/21/2016 . This information is updated periodically 
and should not be relied upon after 2 years from 11/21/2016 . Please visit OZCOBP.com to get current information.

additional pallet packing instructions
plywood on top layer•
strap to pallet•
clear wrap around boxes•

86622 Packing
Item #: Pallet Packing

56622-10

Product & Packaging Specs

Weight: 110 LBS
Scale: 1:12
Last updated: 11/21/2016

18

Y Pallet

Total number of cases: 50

Total number of pieces: 
50x12=600 pieces on pallet

 
533

20.98 

 
776.29
30.56  

 
21.22

.84  

 
533

20.98 

 
19.42
.76  


